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fire breker, rekkefolge for operasjoner med
parenteser

StudentName: ExamDate: ExamScore:

31 3 2 3 3
402 + )+ 8 = A VR A
03 +3)"8 (77373573

31 2 31 1
25(2 4+ 2)=5 = Zrl(2+-o)=
S(5F3)73 373G 73

11 11
22— 1yx - = C 4y
( 5% 5 MG+ 77
3 22 1 13
53673 3(G73)

13 13 1 1
21(=+-=)+9 = —F+ )X =+ ==
G0 377373
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fire breker, rekkefolge for operasjoner med

parenteser
StudentName: ExamDate: ExamScore:
3 1 14 2 3 2 3 3 129 29
40(=+ =)+~8= — =4— - — = ——==(C—)=(C-1—
(5 3) 3 3 (4 5)>< 5 2 ( 100) ( 100)
3 1 17 1 2 31 1 73 13
25(=+ =)+5= — = 8§— —F+ (=t )= —=1—
5(2 5) . 2 82 3 2(6 5) 60 60
1 1 2 1 1 55 7
2+2— = - = = -+ )+T7=—==4—
( 597373 TG 1= 1~ %
3 22 1 93 43 1 3
-+t (=t =)= —=1— 3B(=—=)+11=(3
2 5(5 2) 5 50 (2 2) (=3)
1 3 15 3 1 3 1 1 101
27(=+ =)+9= — =3_ —+ )X = == —
1G9 =573 G+P"3%357 0
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